MCJA %hiERL R

m
|.|.3H

(AR ) REBREL

®

B
=
i
=

®

F
3
=
=

(®

=
i
.

%

©

[
1
&
i

(ZAEHTBR )

A AR

mindman

KK

il MCJA-3*
fEE 750 HEA R EE)H
sirpate (mm) [ 12]16]20]25]32]40]50] 63 |80 [100
B TR M5x0.8 Rc1/8 | Re1/4 | Re3/8
e Z25R,
R HE | 0.05~1 | 0.03~1 0.02~1
fi# (MPa) wgy | 02~1 [045~1| o01-1 |  —
iR S 1.5 MPa
JE B —5~+60°C ( AL )
58 P Sl 50~500 mm/sec
RS (%) RCE &, RCE1 &, RDEP

* RDEP fH5#E R A 212~050 °

MCJA — 32 — 40— 10x25 M —[]

BLE QRsF

4 : M5x0.8
(5t 212~025)
f£: Rc

G: G4

NPT: NPT ZF
(il 932~100)

BRI - FHEf TR

RIS FALPYE M: i
3 SfirEm 1742 1 % 1712 2
752 1: B BUTHE
719 2: 17F (°)
 TRRAI BT -
fEBIS IR F R
e #]
31| == mmss
32| [l | mmwr
3|5|[ k= smummsir
36| [ b= | mitimmny

SRR
WS —MCJA—3—40
| | T T

FEE BUsR ZUBEE TR

* B SGLATE 220~2100 -

M mindman

puv——— = HRAITHE (mm)
212,16 5,10,15,20,25,30 130 300
©20,25,32
240 50 63,80 5,10,15,20,25,30,35,40,45,50 130 300
2100 5,10,15,20,25,30,35,40,45,50 120 125

* JRERE RGN AREL - FRARIEAR -
=1 3 A
BRG] — B TREER
RAELAE 712 (mm)

812,16,20,25,32,40

5,10,15,20,25,30

250

5,10,15,20

* IR TR R B

AT A -



https://www.mindman.com.tw/proimages/pdf/C_RCE.pdf
https://www.mindman.com.tw/proimages/pdf/C_RCE1.pdf
https://www.mindman.com.tw/proimages/pdf/C_RDEP.pdf
https://www.mindman.com.tw/proimages/pdf/C_special_specification.pdf
https://www.mindman.com.tw/proimages/pdf/C_Rod_end_shape.pdf
https://www.mindman.com.tw/proimages/pdf/c_technical_data.pdf
https://www.mindman.com.tw/proimages/pdf/C_Precautions.pdf

MCJA Wik R BB - 0 E A

ER (AR ) mEEEL mindman

15EnE

TRERERL Rr R
7/ T

ERRA - BRI — R

R FEGHE | MER | nEnE C%C‘? Q@’ 17?@ @ @? DE
| e | e | o | me T { m ;Z L;:u / { L;:J
PR | 2 1 2 2 4 2 ‘ = i
212 KSYR-6 KSYR-6 OPA-12 OPA-12 S-12 d4xw1
216 KSYR-6 KSYR-6 OPA-16 OPA-16 S-14 ddxw1
: LN T I N AT
220 KSYR-8 |KSYR-8 | OPA-20 OPA-20 S-18 d6exw1 / \ \
225 KSYR-10 | KSYR-10 | OPA-25 OPA-25 S-22 d8xw1 ——
232 |KSYR-12 |KSYR-12 |OPA-32 | OPA-32 | d28xw2 | S-9 — e Y
240 KSYR-16 | KSYR-16 | OPA-40 OPA-40 S-36 S-9 T T
250 KSYR-20 | KSYR-20 | OPA-50 OPA-50 [ AS-31 S-16 ‘ (55 & ’
263 KSYR-20 - OPA-63 - AS-35 S-16 = > HpEs
280 |ORA-25 — | oPa-80 - AS-41 | d20xw1 ik %fmﬂe’
2100 SDR-30 — OPA-100 — S-95 S-26 T fﬁ] *i* ’I’ {q:
I Ll
212 |CP-MCJA-3-12(M)
Pt o | FamE | e 216 | CP-MCJA-3-16(M)
No.| [ 12[16|20|25|32| 40 | 50 | 63 | 80 |100| Bt | yyiu’ (') | () ES0R CPMCJA320M)
1 [B& SEEE 1 [ ] 225 |CP-MCJA-3-25(M)
2 | FLFA C ZUHIER (il ) Wﬁﬂ T |Tf*ﬂﬁ]| TS 1 [ ) 232 | CP-MCJA-3-32(M)
3 |H#LER NBR 4 (] L] 240 |CP-MCJA-3-40(M)
4 | spmsp — | NBR 4 [ [ ) @50 | CP-MCJA-3-50(M)
5 |G NBR 2 o (] 263 | CP-MCJA-3-63(M)
6 | iGsemEER NBR 2 L) [ J 280 |CP-MCJA-3-80(M)
7 | wE% 2 [ 2100 | CP-MCJA-3-100(M)
N T E5 T E$H SCM 2 [ M: [
B |FHEERN “oww [ 2] Tom 5% SCM 2 ° I,
9 |iEgEr 1 PR *3 T ( SEREE PR ) 2 —
i R TERSH ( SUTE R ) 2 P SHE
10 [ A e 2 212 | PS-MCJA-3-12
11 | mseimsm NBR 2" [ ® 216 | PS-MCJA-3-16
12 [ pirz &t 1 [ 220 | PS-MCJA-3-20
13 | wmstie — | B4 2 [ 225 | PS-MCJA-3-25
14 | e Wb 2 [ 232 | PS-MCJA-3-32
HES ZE4 SWP = 2 [ 240 | PS-MCJA-3-40
16 |y By = 1 [ 250 | PS-MCJA-3-50
17 | iz Hed 1 ° 263 | PS-MCJA-3-63
18 | ApumEcige T EH SCM 2 280 | PS-MCJA-3-80
19 | LA C A (i) N S 1 [ 2100 | PS-MCJA-3-100

CEME R BRSNS - IR R i o 2. THHM SCM 3 REES 4. BHEHTHE > (RIS EERIEGE =1 -

M mindman



MCJIA SBRF — %hi ¥/ S8 612~0100

EE (AR ) mBEEI

mindman

212, 216
ZA+ TR 1+ {THE 2
av 2-N B ~
OE1 2-oM F1iE z H_  s+ff22 S+ 1712 1

H
H 3-EE

ZA+ 7R 1+ 1714 2

ATIE 1 BT TR 20 MR

H S+ 1712 2 S+ 1712 1
C
PA 3-EE PA PA
T
T e e B e N B
Ho— D@ o

% Jam[aa] c[p| ee [E1|E2[F |G| H [H1] K m FE g EfTRmREAL

12 10|12 ]1 | 6 |mM5x08 [163| 23| 5|11 | 5 |17 | 3 BRI - 47424858 100mm

16 | 10 | 12 [15 | 6 [m5%08 [198[ 28 | 5[ 11 | 55[17.5] 3 AQ ANHREZL - AT 110mm
20 | 13|15 |15 | 8 [M5x0.8 |24 | — | 6| 15| 55|205| 3 AM ——

25 | 15|17 |2 |10 |M5%08 |28 | — | 8| 17| 6 |23 | 3 8\ 012~2100

32 | 15|18 |3 | 12 |[Ret8 ()34 | — |10 | 22| 7 |25 | 3 ) —

40 | 25|28 |3 |16 [Rcii8( )40 | — |14 |28 | 7 |35 | 3 W1 ,@ i

50 | 25|28 |4 | 20 |Re1/4(2)48 | — |17 |38 | 9 |37 | 3 5

63 | 25 | 28 |4 | 20 |Rc1/4(2)[60 | — |17 |40 | o |37 | 3 L

80 | 30335 |25]|Re38(3)|74 | — |22 |45 |11 |44 | 4

100 | 35|38 |5 |30 |Re3B(3)00 | — |27 |55 |12 |50 | 4 H1

*1. RERE T2 5mm [ » EE=M5x%0.8

*2. NG 772 ks 5mm [ - EE=Rc1/8

*3. RNURE TR 5mm I » EE=Rc1/4

o TR | R
— KK LH | M N PA|PB| Q TIVIVIX|Y|Z T e T,
12 | M3x0.5x6 % — | 4.3] 06.5x4.5 % , M5x0.8x7.5 7 65|6 |M5%x08 | — | 25|32 | 32| 631 |17 | 39 |27 | 59
16 | M3x0.5x6 & — | 43| 06.5x4.5 % , M5x0.8x7.5 % 7 |65 |M5%x08 | — | 29| 38 | 32| 6.3[1 |185| 42.5|285| 625
20 | M4x0.7x8 B — | 43| 06.5x4.5 % , M5x0.8x7.5 % 75| — |[M6x1.0 | — | 34| — | 32| 63[1 |195| 445|205| 645
25 | M5x0.8x10 B — | 5.1] 09x7 %, Mex1.0x10 8 | — |mex1.25 | — | 40| — | 42| 78[1 |21 | 48 [31 | 68
32 | M6x1.0x12 % 48.5| 5.1| 09x7 ¥ , M6x1.0x10 ZE 9 | — [M10x1.25 | 14 | 44| — | 42| 7.8[1 |245] 56 |345| 76
40 |M8x1.25x12 % | 56.5| 6.9] 210.5x8 %, M8x1.25x12 £ 10 | — |[M14x15 | 14 | 52| — | 6.2|103]1.6 |26 | 59 |36 | 79
50 |M10x1.5x15% | 70 | 6.9| 011x8.5 %, M8x1.25x16.5 £ 10 | — |M18x15 |19 | 62| — | 6.2|108]16 |28 | 65 |38 | 85
63 |M10x1.5x15% | 83 | 6.9| 011x8.5 % , M8x1.25x16.5 £ 12 | — [M18x15 | 20| 75| — | 62|108]16 [32 | 73 |42 | o3
80 |M14x15x20 % |102 |10.5| 214x10.5 B, M12x1.75x12 7 13 | — |M22x15 |27 | 94| — | 82[138]16 |41 | 93 |51 |13
100 |M18x15x20 %8 |122 |12.3| 018.6x13 7 , M14x2x17 T 17 | — |M26x1.5 | 26 |114| — |102[17.3]2 |51 |114 |61 |134

M mindman



	1_規格
	2_內部構造及主要零件
	3_複動內牙型 φ12~φ100

